D r  ACCOUNTING DEPARTMENT
w=ts

LECTURER: SAMLA SHAMMAS C

AUULTY OF BUSINESS AND ECONOMICS

FIRST HOUR EXAM
CCT, 333"
Stodent Name:
Student & _&
Multiple Cholces
Questlons 1 b
Reiwir's

m

ol | k[ 4
I

3 [::..-H £ ’rr’u. Mﬁ G oo

hc;ﬂL Qvlld, jr:ﬂ'mw'ﬂ

l@rhmg"c fcn furirm e | [“'"“"

1 n'ﬂ"'xﬁ-]ﬂ umrtﬁ-lr I'

=

le

—— 3
= s | 5ol dﬂm-m,, Comters (Vg ki [ T7

= 5 E '*_a
L

10 & | ' *"*"”’"“"‘Ji-{{ﬂ"\‘“h“ﬂ 5
@

15 - .
16

13 ﬂnuM_ Tt P Sy
14 . Lf_ﬁ -




=
P e P

__,.:—--'_":——_._\-_""'\-\.
Fd »
i

w8 4b WU AN = e B
\\%EHQL{;MME ‘;3 Al AT e rmba .ﬁ 9!‘5-'-“:4#' 4
daher and Maher are accountants for the Engincering Institute. They disagree over the following
fransactions that occurred during 2013, Makher disagrees with Baher om each of the transactions

befow, . - = 1 Faedb ln
.: rrj: :— = I._l:'
X The Engineering Institute finds a bariain for a commercial-grade plotter and pays$3 000,
Baher argues that if they bad bought Tt Tom the ,d=_nlr_:;'. they would have paid §4.000. r

suggests they record the plotter for $4,000), (il @ pras i
2. Rimon is the president of the Engineering Institute, used his company expense sccount 1o
purchise 4 new BMW for his personal use. Baher argues that since the president is also the

owner of the Engineering Institute, it really does not matter who paid for it, - PR s
1% b B
-y I
IE}';}I 1 & ﬂﬂﬁef’fﬂﬁnn for the vear was §11 B

fe,
r that since net income is expected 1o be
lower in the current fiscal year, they should Justcha 5.an expense next yéar, [ e Rec prin

=3

e ¥
W?/”fi Baher suggests that the Engineering Tnstimte value its equipment on its balance sheet af its
liquidation value, which is $50,000 less than cost. J_/__.-“.ﬂ,j Carcer ) fligewmgF o«

5. The Engineering Institute signed a ledse on its offices for the next five years. A lease liability
is not included on the company's halance sheet Baher doesn’t think such InfOrmATon needs fo

. Baher decides 1o establish o largz gain on this year because of the possibility that it may gain
ing ringement lnwsuit.

Required '
For each of the above transactions, identify why Maher disagrees, Also jdentify the assumption,
\]iin_ciglt. ar constraint that has been violuted, >




Presented below are a number of items. Select the item that is most applicable in the following
cases. Use the following letter code for your selections.

r A, Expense recognition principle | H. Monetary unit assumption 0. Relevance

1

E
MIF

X
RIE

Mo

- B: Timeliness ~1. Neutrality P. Economic enfity assumption
C. Relisbility J. Measuremen! principle -1 (). Industry practice
D. Periodicity assumption - K. Feedback value -+ R, Comparability
-+E. Consistency L. Conservatism | 8. Full disclosure principle
4 F. Materiality M. Verifinbility — T. Representational
faithfulness
G. Revenue recognition principle < N. Cost-benefit relationship U. Predictive value
. T (1} Tulkarem Inc. income statement reports sales of 1,200,000 when it had sales of only
$825.000( L4 o~
=2 (2) Bethlehem Inc. does not issue ifs frst-quarter report until afier the second quarter's

results are reported. Q

HH"TE} The charrman of the SEC at one time noted, “1f it becomes sccepted or expected that
pccounting principles are determined or modified In order to secure purposes other than
eCOnOMIC measuremeant, we assume a grave risk that confidence in the credibility of our
financial information svstern will be undermined.”

~~(4) Hebron Company, switches from percentage of sales to percentage of receivables over a
2-year period.

(5) Identify the two overall or pervasive constraints developed in SFAC No. 2.

——(6) Assume that the profession permits the savings and loan industry to defer losses on
immvestmenis it sells, because immediate recognition of the loss may have adverse
ECONOMIc consequences on the industry.

(7) Jenin Inc. is the only company in its industry to depreciate its plant nssets on straight-line
basis,

{8) What is the quality of information that enables users to confirm or correct prior
expectations?

(9) Two secondary qualities that make accounting information useful for decision-making
__ purposes. ! ]

.Temsalr_m Company has attempted to determine the replacement cost of its inventory.
Three different appraisers arrive at substantially different amoonts for this value, The

president, nevertheless, decides o report the middle value for extermal reporting

i pUrposes. & &bl h’{,

i



Question 3 (16 polnts)

Jala Conon Clothing Company is in the process of preparing its Financial Staternents for
December 31, 2013.

The items listed below represent various transactions that occurred during 2013,
The following two responses are required for each item:

» Compute the amount of gain, loss, or adjustment to be reported in the vear-end financial
stalements, assuming an interest rute of 30%.

= Select from the list below the financial statement category in which the gain, loss, or
adjustment should be presented.

__Financial Statement Categories
Opemting item section on the income statement
Cridinary or gouswal (but not extraordinary) item on the income statement
Discontinued operations
Extraordinary item
Other comprehensive income
Change in sceounting principles 1o beginning retained earnings
Prior period adjustment to beginning retained eamings |
| Change in ¢stimate |
' Uhetinn) ) o
Item Amount Category |

z|a|mim|oin|o |

1. During the year, Jala discontinuance of all production in _,,.-3,_.:( I
Beit-Jala at # loss in the amount of $30,000 pre-tax. The |

manufacturing operations were relocated to Ramallak. e
Compute the smount of gain/(loss) and select the proper
category. el o
gory Sy oo S
tﬁhw".um&

2. During the year obsalete cotton clothing inventory was M

written off by Jala Co. at a loss m the amount of 550,000
pre-tax by using the indirec! method. This was the first
loss/ of this type in the company’s history. Compute the (

amount gainf(loss) and select the proper category.
R -3 o

3. During the vear Jaln disposed of » manufacturing shoes |gjetvm f-""ﬂl{"’“-"
segment, the scgment had revemued of 580,000 and (1 ﬂ[,l" foary fdan) ﬁ_

expenses of S300,000; the gamn from the -dl.’:-]}f‘ﬁﬂ] of the )
| mamofacturing shoes scgment was  S200,00  pre-iax. Il'-ﬁﬁ'l'l"""‘ﬂ"'rj‘li{"' :ux,%ju

| Compiite the amouni of galnf(loss) from the results of | (a =
Gasonduidnd2090) = [obpw
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shoes segment
k;:-h"

vperations and disposal of the manufpcturi
and select the proper category.

7
VS S ams C;

4, Jaly dectded (o change from the % of credit sales method
to the % of receivables method in deétermining bad debi
cxpense in 2013. Data related to this change is presented
below,

Old Method  New Method
| Bad debt expense 2011 $80,000 %o ’;;?mq\ f

Bad debt expense 2012 120,000 lt%" S0,000

Compute the amount of the changs ‘and state the direction

fesr s Dl okt
()

ey f:ﬁ f=

flekmin e

e

]

increase/{decrease) and select the proper category,

estimated useful life “of & machine purchased for $48 008
with a salvage value 38,000 .in Japuary 2008 should be
extended by 3 years und with a sulvage value $4,000. The
machine i5 being depreciated using the strajght-line method.
Compute the amount of depreciation expense that should be
reported in the [nancial statements for the vear ended
' December 31, 2013 and select the proper category.

15, In January 2013, Jalo determined that the I0-year '5-wss

"6. During the previous yewr's physical count, Jala
erronenusly counted goods beld on consignment in the
amount of $20,000. Compute the smount of the adjustment
and state the direction increase/(decrease) and salect the
proper caiegory.Gest of geef st st oS

] A i o Dt ha kb jMooo
_-lth Lo | Carany .ﬂf!h"'j;-!:

Compute the amount gain/{loss) and select the proper
| category.

7. During 2013, Jala sarned a Inmm__‘w gain |
$20,000 pre-tax on o purchase of equipment from a Germap Co.

8. Durnng 2013 Jala had an unrealized holding loss at'#(q-{-}

§100,000 pre-tax on available for sale securities in Palvest
Co. Compuie the smount grin/(loss) and select"the proper

)9

category.
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"f_j}f Financal accounting standards:

o are products of absolutz logic,

b. are issued by the FASE without the input of-pairties such as corpomte accountants or
anal ysts,
are ofien the resuli ufm:ﬂﬁ;ﬂms among the inlerested parties.
have never been rejected by the SEC,

. none of the above statements are true,

¥ MeX)mpmc
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2..A company records items oo
the cash basis throughout the year

and converts (o an accrual basis QJJ ﬁﬂh | =
fior year-end reporting. [ts cash- ﬂb,l_l;r % ﬁ'y—r.rur 2.7
basis net income for the year is | ;'7’ "EEJ
$70,000. 2T f"ﬁ (\&2)
| F_E.r |
The company has gathered the th &ﬂ Hﬁﬁ ( )1
follewing comparative balance e
sheet information: i """"'"" / ?J.J
Beginning of year [ ey ﬁfiﬂ"qf Yyear 5¢ ", b ﬂcj P
(Feeond |ywmn 3 1
-Accounts payable 5 3,000 $1.000 4 Jooa ?,.:w IH_DJ
—inearned revenue 300 500 {rov)
-Wagés pavable 300 S0 Lwaa)
Prepaid rent 1200 1,500 e
__—Accounts receivable 1,400 B0 (Bee)

What amount should the company report as its accroal-basis net income for the current vear?

a. $68.800
b. $70,200
$71,200
873200

3. A company decided to

sell an unprofitable
dimm___nﬂr.-smm
The company can seli the

entire operation for
SE00.000. and the buyer
will assume oll assets and
tiabilities of the
aperations, The tax rale is
)%, The nssers and



| -

lisbilities of the
ciscontinued operation are
a5 follows:

Buildings $5,000,000
—Accumilated depreciation 3,000,000

~Mortgage on buildings 1,100,000 /

tﬁ;}mmug payable gﬁﬂ djl I L'jl'ﬂ'ﬁ; gl .14-'.-‘:-.'

x-Accounts receivable 200,000 o550
What is the after-tax net loss on the disposal of thé division? | =Sieoferchs  297,00)
Oy /w e L ),

e. §1,540,000
d, $2,200,000 e o '[.1{},..5‘.1'.1

4. Which of the following is an example of managing eamings down?

1. Changing cstimated bad debts from 3 percent to 2.5 percent of sales.
ing research and developmerit expenditures.
_ . Not writing off obsolete inventory.
P Revising the estimated life of equipstentftom 10 vears to 8 VEOrs. Cueyy

"@Wtﬁ:h of the following is » compenent of other comprehensive income? ~ w :
a. Mintmum acerual of vacation piy. A ?ﬂ&.‘ﬁ | I;ljﬂ_.qﬂﬂ
ative currency-translation adjostments, Gl L4} or)
<. Chenges in market value of inventory,
nrealized guin or loss on trading securities.

- OnJune §, Royul Corp, began operating & service company with en initial cash investment by P Iy
; * shareholders of 52000000, The company provided 86,400,000 of services in June and received full

C/ payment in July. Roval also incurred expenses of $3,000,000 in June that were paid in Augusi.
During June. Royal paid its shareholders cash dividends of 51,000,000, What was the company’s
income befors meome taxes for the two months ended July 31 under the following methods of

wpecpunting? |
. : —j W *—3@’
e e CA 2 003,03
$3,400,000  §3,400,000 Jeme e b e,

d;
b,  55400,000  $2,400,000 .
(& 6400000  $3,400,000 ¢ <ot 2001
. © 56,400,000  $2.400,000
o
¢
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= After all of the uceount balances have been extended o the Income Stntement columns of the work shaet,
the totuls af the debit and credit columns nre §87,500 and $58 300, respectively, What |s the amount of
siet income or net loss Tor the period? iy

§10,800 net ircome ﬂ
~ S10,800 net loss T arhdl =t by A

c. 598300 net income W Ao,
d. 587500 net loss Iﬂﬂp W . ﬂn.i:?.j fiﬂﬁL Teew
I"-"M Pt o rivivue Sood

8. March Company received $9,000 on August 1, 2013 for ane year's rent in advance and
recorded the transaction with & credit 10 u% The December 31, 2013
adjusting entry is = I

mn
o debit Unearned Rent and credit Rent Revenue, $3,750. (e g se 5242
debit Rent Revenue and credit Unearned Rent, $3,750, o
o @ debit Rent Revenue and credit Unearned Rent, £5,250. B ¥ /r f ?L
" dehit Unearned Rent and credit Renl Revenue, 55,250,

e 0. Which of the following is nn acceptable way of displaying the components of other
| comprehensive income under the new accounting standard?
1) Combined statement of retained earnings

C L b Szcb%ﬁab'slﬂm: sheet
‘ T ¢ Combined statement of comprehensive 1ncnmqu

g Az pan of the satement of stockholders’ equity

| \m. When 1 full set of general-purpase financiul statements are presented, comprehensive income
_— and its components should :
\ . Appear s & part of discontinued operations :nk:mmgf'c_llnary ioms. <2
C = b, Be reported net of related income fax etfect, in wtul and individually. n-(:'___
c. Appear in 4 supplemental schedule in the notesyo the fingncial statements. ==
d. Be displayed in a financial statement that has the same prominence e other financial —

stlements

i

11, The followir ipinrmntiﬂn s dvailable for Olive Company for 2013 o
D:;L' EIknes for purchases < $1,050.000
! 75,000

Increase m trade accounts payable
30,000

Decrease in merchandise inveniory

Casts of goods sold for 2013 was
p. 51,005,000,

. 51,095,000,
$1,155,000,
S545,000).
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12, Dr. Mohannad, keeps his accounting records on the mhbhr sis. During 2013, Dr, Mohannad
collected §$360,000 from his pofients. At Daambezi 201§. Dr. Mohannad had
accounts receivable of $50,000. At December 31, 2013, Dr. Mohannad had sccounts
gpuf‘mble of $70,000 and unearned ravenue of 510,000, On the accrual basis, how much

U/_. was Dr. Mohanmad 's patizal 5=:r'-r|¢r4:_\;r['m.|.r_fm_?ﬂli'
e |I"i ﬁfﬂi’) 7 éq:mj

$310,000,
5 380,000, “”‘ D—'*J 4
/R

B> $370,000. ’]Ja
d. $390,000, m..g:.m_,. ({g

13. ] Ar the end of 2013, Raya Company made seven adjusting entries for the following
e

m’! Depreciation expense, §23, [‘]'III = \
Expired Lnsu:nmz;"? 200 (Ariginally recorded s preprid insurance. ) O A3

Interest payable, 86,000 ¢
j;‘ Rental revenue receivuble-§10,000-" .'Sf
Revenue earned, 34,000 (originallv recorded as uneamed mrmr.l::l/ 7 o
___——& Supplies on hind, $1,000 (originelly recorded as supplies ¢ E‘q:n:n_l.ﬂ i -
7. Bad debt expense; $3.000. - .
In the normal situation, to facilitate subsequent entries, the ad]mtmg entry or entries that
may be reversed iz (are) # )
.. Enlry No. LU0, 2, No. 5, and No. 7. = .I:" 1 e

B.) Entry No. 3, No. 4, and No, 6. Codi)
¢. Entry Mp. 3. No.4, No, 6, and No. 7, < P 1 s Q’Eh{- EIP qu 3
d. Entry No.2, No.5, and No. 6, & q:,.-‘ Cr - §do

14, Limon Compuny puid 59,000 on April 1, 2013 for two year's rent in advance and recorded
/ the Imnntnun with o debit to 8 nominal mocount Thu December 31, 2013 ndpmuﬂﬁ:-_- é.?l;

4, debit Pmpaﬁﬂtnt and credit Rent Expense, §3,375. T'“ ! “"

b. debit Rent Expense and Prepaid Rent, §3,375, j: -ﬁ
¢. debit Rent Expense and credit Prepaid Rent, $5,625. o P
(® debit Prepaid Rent and credit Rent Expense, $5,625, o J..#

15, Almond Company purchased material supplies of $4,800 on June 1, 2013 and recorded the
entire-amount with o debi! (0 8 nomung] gccoynt. On December 31, 2013 Supplies munt

eveals materials on hund 3 , the adjusting entry 15 {2. L\
‘dl.‘.hil Supplies and credit Etrppln:s Expense, 33,400, — Supp lies wep uln-“ 3
debit Supplics Expens¢ and credit Supplics, $3,400, £y -
J/‘ ¢. debit Supplies and credit Supplies Expense, $1.400. - '

d. debit Supplies Expense and credit Supplics, 53,400,

= D < ﬂ-ft' ﬁ{f E[JEL'U’ URRRITEY
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™\ 16. For the year ended December 31, 2013, Rawabi Inc, reparted the following:

Net income § 100,000
Preferred dividends declared 5,000
Common dividends declared 20,000
Unrealized hn[dmgﬂﬂn available-for-sale securities ¢ 3,000
Remzined earnings 88.000
Common stock 60,000
Accumulated other comprebensive income,
beginning balance 15,000
Income tax rate 3
What would Rawabi report as its ending balance of Accumuluted Other Comprehensive
Income?
. — Qa)12.900
b. $12,000
817,100
d. $18,000
17, For the year ended December 31, 2013, Al-Rehan Inc. reported the following:
—Net income $ 60,000 -4
Preferred dividends declared 10,000 =
Commuon dividend declarad 2000 — 3
@ Unrealized holding loss fom foreign currency iranslation 2,000 = Saesex ™
Retained earnings. begidfiing balance 80,000 <
Common sigak 40,000 -
Accumulated Other Comehensive lncome, B J P
Begmning Balance 5,000 /
¥ Income tax rate 30% 4 b
What would Al-Rehon report as total stockholders’ equity? I? »
$171,000 v
PPN \b3 fis 128,
c. $175.000
d. $174,400

p*'-'l

18,/ Birzeit Co. changed from the cash basis of accounting to the accrual basis sccounting during
e year, The cumulative effect of this change should be reported in Birzeit's financial

stalements as a '
Change in accounting principle 7 % Cns L Las:
Component of income afier extraopdinary item o c:# @_ _'*{3

orrection of an erpor
G- Component of income before extraordinary item o //_:

10



